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QUESTION 1

Given that CREATEMODULE salesModule statement has been successfully executed, what is the correct method to
manage this MODULE? 

A. REPLACE MODULE salesModule 

B. UPDATE salesModule MODULE FOR 

C. ALTER MODULE salesModule 

D. CREATE OR REPLACE selesModule UPDATE salesFunc 

Correct Answer: C 

 

 

QUESTION 2

Which statement is TRUE about associative arrays? 

A. Associative array values can be stored in table columns. 

B. The index values for an associative array must be a continuous set of integer values. 

C. Associative array cannot be a type of a table column. 

D. The index data type for an associated array must be an integer. 

Correct Answer: C 

 

 

QUESTION 3

Click the Exhibit button. 
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Which statement is true about the CASE statement shown in the exhibit? 

A. An employee with a rating of 1 receives a 10% salary increase. 

B. An employee with a rating of 3 receives no salary increase. 

C. An employee with a rating of 2 receives a 3%salary increase. 

D. All employees will receive at least a 5% salary increase. 

Correct Answer: A 

 

 

QUESTION 4

Click the Exhibit button. 

A user-defined function was created using the statement shown in the exhibit. 
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Which additional option can be added to the CREATE FUNCTION statement to tell the optimizer that the function
doesnot always return the same results for a given argument value? 

A. NO EXTERNAL ACTION 

B. NOT FENCED 

C. NOT DETERMINISTIC 

D. STATIC DISPATCH 

Correct Answer: C 

 

 

QUESTION 5

Which of the following can be done while debugging a SQL procedure with IBM Data Studio? 

A. Change the order of statements being executed. 

B. Edit the procedure and continue. 

C. Change the value of any variables used. 

D. Re-execute the current statement. 

Correct Answer: C 
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